
'Tfti r{A'
<l(Er(q-"i Tfr frdm qc{Tr{-l{

rqft a<- qT</ct/to)b--5b

grflTs 'gt$fhs Rfl< fr'{r+.
6s&ft, ftuflr

ft.rrrtc "<to-{T r<E{" <r<l ud lqftt

1.n-3- {q_f:. \.lqo€es.oe.5\9\9e.los5

"ffi e<<"
ar-c:, frETofi <fal&rc ,edr<l, DFFt-5ooo

fqd k"Ilit
ffi{g ra qcfm< loru fka

firn< fi*rlfuf< ?fgf<i{C$ rqEl"r;r ftstr|<'slTS T(-88o1.qfi-.I: o8lo\b/lo5E fu: fl'qfirc {t 1fu4$
({t{), gfrE] Esr<<r {?il ffiEl4-s (Tf<). E{r (n]: ffi cqrcm ,{< frls oElos/bo {ce tts/5a/ao)) tl: ?:is
rnrcm ffi q(olg rro.fl c<t;r .sTst kq <l<q=5,ob,g5a/- (:r|g {F e$ q|qT< e}t"i5 'lri<) ErEr

"rfur"nrtr< 
qar finx<f{b ftl<fiT "tt-q{'f{r ffis f?c<t w1vfft ud aqft anra stfi? <sEr

FrsrRsft-{d"t
@3 Ai-
(s)
(?r ) .nT =..w =liosul

Talqr o]q =5,cbb i-

T"r fY- =Y!1qY- 
- 

l

cflB e = 5,o\,\r5c/-

-:Eflq(-+) ,r{< gujis offt+ ffu:l<fiI {ejT:rlrst(< tra 5i+ Faq "rficflq {r<
(,.j) ri:.*E ,:ri<<"r 6 <.1'16 .rfff f<r..r< rlli.tI .er;;r.sFr;r 'Jraitrfll{ ffp,1 u,-lip '5'[ri ,r6c'rl ti''"irai ql*E fi}i:':

qliFrrr,di ffioo -<tf(<;l

( 
't ) :iE<i .q:rrii orqk q<-gn ffirs <q fuE ?jir.rniK <r+{ ftcs qr< 

r

(ri) {retlci flo ffi (mor (FG) -orlrn."I]/TTqr fitrrs ecl f?E q-q c "r-Far'nrrt"r

.{r <lT T<6lit {(g qTg lo)tr-sb qd <sT({{ "C<e-I slET" ltTo qro "ifur'nrmrry qr< 
r

€rs {q]{{ TqirFs q{rTI[{ {rT(ql

TS$fAI <I{{.|"l.F ioril u:rrt:

llfE{ 1qBljlal_(wrtr$< &kcs a{):.,

) | :rs"r {r<{t"to (T]]I <F:) R,sGfr, wolr

a fiit< linro, fi,{Gfr. ulsl
o 15!->rB< (r({t'i{), frqfuft, fifi
8 {'u "rREq$ fql<). ftqfufi, TFmr
c1 rr4>ri qf?FFtiF (q$ T6qpi-6a< >r{q1fit <ibrc +-:(qrc-t, freffi, u-Isl r

2/. ofzEBm cflonr<,wifilB mq, Reffi,Dfo IRUGB'< \3rx<{itE a-slr'El qnl 
I

q I w{tr c{T: ftrft{ .qTfl{, {t flfrfi4s ({<), R,sGfi, T'frfl1
tst ofimoPtr

(fl)

.rrr+ a<-qd.fls's /)c5/ro5r ur L-z) zf> (D
fiafuF. Dtsrr A

orra"rsZWf>D/>tr-


